X AR SEFE

General Hand

TMHC2 Series

v
=
'_
<
=
=)
wl
=
o

Common Specification (F£[E]# 4% )

Cylinder Bore Size(5I#Z)(mm)[ 6 | 7 [ 10 [ 16 [ 20 | 25
Working Fluid ({8 F i 1) Clean Air(jiE &= %)
Pressure Range Single Acting(# 5[ 0.3~0.6 0.4*0.6‘ 0.25~0.6
(&R E13ER)(Mpa)| Double Acting (W) [0.15~0.6 0.1~0.6
Lubrication(iiE i&) Not Required(F EE)
Temperature({& g ) (C) -10~60°C
Accuracy( 15 E)(mm) +0.02 \ +0.01
Holding Force(Je3% 114E) Max.Cycle per Minute(5 & 1 i [2] £)(C.P.M) 180
Action Type Holding Force Angles How To Order (B 5 % 75 75 7%)
EERR) (BS) (FHDE)NmM) | (FARE)

TMHC2-10D 0.1
Double Acting | TMHC2-16D 0.39 30°~-10° T M H C2 = 1 6 D - MgB
(W zh) TMHC2-20D 0.70 )

TMHC2-25D 1.36

| |
TMHC2-7S 0.017 20°~-7° [ [
- Bore Action Auto Switch
Single Acting TMHC2-10S 0.31 EHEZ ;IERR HEMETF X
(3 TMHC2-16S 0.54 . . . = ——
TMHC2-20S 0.39 30°~-10 6.7.10.16,20.25 D [Double Acting (W ) Nil(z=)[ None (FEREMEFF %)

S [Single Acting(£a/E )  M9B | Switch 2EAHIEFF %28)
KT 12 H7Tmmi, R BETR M9BS)| Switch 1EARMFF X18)

TMHC2-258 1.06

Dimensions(mm)(#MER T EI(ZK))

Double Acting(¥ ) ©6~@25
2Nz %87

r ot
4-K(REETL) BB 2-K(R %12 7L)
BAOL(RETL)
o ‘ |
8 2 ‘ M
g o)
g 2 [a] 9]
s S - - e ‘R o
2z
= = : 01\
e 1
AA <0052
(¢ @ZH9 R1.5

- REEED Single Acting (% /& FF) .
210~025 =

S(FIEHALL)

S(FEHFL

\i
T(FHEFA)
FNRE ETHAMIF X OLREFLTGER.

12 BEOR
(ﬁr‘];{;)ABCDEFGH I J K LM N (0] P SETUVWXYZAABBCCDDEE
6 6 |29 |41|16 11|25 5 | 2 | 12 |M3x0. 587 2.6 | - |[M2x0.4%4| 5 | M2x0.4 | M3x05 | - | - | 4 |21 - | 7 [ 10| 4 |20 [13.6] 14
10 [2.8(12.8|38.6/52.4|52.4| 12 | 3 [5.7| 4 | 16 |M3x0.575| 2.6 | 8.8 | M3x0. 576 |11. 4| M2.5x0.45 [ M3x0.5 |7.2(18.8|6.4(10.4|5.4| 11 [16.4| 12| 23 | 18 | 10
16 |3.9(16.2|44.6(62.5(62.5{ 16 | 4 | 7 | 7 | 24 |M4x0.7:%8| 3.4 [10.7| M4x0. 78 | 16 | M3x0.5 M5x0.8 7 (18.3| 8 | 13 |5.8| 17 |23.6] 15 |30.6| 22 | 16
20 |4.5(21.7|55.2|78.7|78.7| 20 | 5.2 8 | 30 |M5x0.8%10| 4.3 [15.7| M5x0. 8788 [18.6| M4x0.7 M5x0.8 |7.5|7.5|10 |15 | 9 | 21|27.6| 18 | 42 | 32 | 20
25 |4.6(25.8|60.4| 92 |37.5{ 27 | 8 [ 12|10 | 36 | MéF12 |5.1(19.3] M6F10 | 22 | M5x0.8 M5x0.8 7.7 |7.7]12 | 20 |11.5] 26 |33.6| 22 | 52 | 40 | 25

Please contract us on any small problem and details.
1.178 #TE[ETE BIEMME M REY, EEESAATRE.




% RAARSEFE

General Hand

v
=
=
<<
=
=)
L
=
a

TMHC2 Series

Dimensions(mm)(%ME R~ Bl(ZK))

TMHC2-7S

2 x M2 x 0.4 thread
g~ 2 x M2 x 0.4 depth 4
(R%7L) (R#7L)

o) —t
&
: il o ¢ 4-—-H
(0]
=

o

1.8 7.7 6
16.5
10+0.05
(23)
M3 x 0.5
2 x M2 x 0.4 thread (FiEHAETL)

(Pt 1 %2 3 R BB &L FL)

I

0
4 0.03

$TEETE 1179




	页 1
	页 2

